
Calcolare i seguenti limiti:

lim
x→0

tg(ex − 1)

ex − 1

lim
x→0

(1 + arctgx)7 − 1

log(1 + senx)

lim
x→0

(1 + senx)5 − 1

log(1 + 3x)

lim
x→0

4arctgx − 1

arctgx

lim
x→0

(1 + senx)6 − 1

tg(2x)

lim
x→0

etgx − 1

sen(2x)

lim
x→0

tg(8x)

log(1 + 3x)

lim
x→+∞

sen(e−x)

e−x

lim
x→0

(1 + tgx)5 − 1

senx

lim
x→0

log(1 + tgx)

tgx

lim
x→0

(5x − 1)2

1− cosx

lim
x→0

1− cos(log(1 + x))

tg2x

lim
x→0

(1 + 4x)3 − 1

arctg(2x)

lim
x→1

1− cos(log x)

log2 x

lim
x→0

(1 + arcsenx)3 − 1

ex − 1

lim
x→0

sen(4x)

arcsen(3x)



lim
x→π

2

3cos x − 1

cosx

lim
x→0

8senx − 1

log(1 + x)

lim
x→0

1− cos(2x)

tg2x

lim
x→0

arctg(1− cosx)

1− cosx

lim
x→−∞

tg(ex)

ex

lim
x→0

23x − 1

6x

lim
x→+∞

(1 + e−x)3 − 1

e−x

lim
x→0

earcsenx − 1

(1 + 5x)4 − 1

lim
x→0

arctg(6x)

arcsen(3x)

lim
x→0

1− cos(
√
x)

x

lim
x→0

(1 + arctgx)5 − 1

e5x − 1

lim
x→0

1− cos(3x)

sen2(6x)

lim
x→1

(1 + log x)4 − 1

log x

lim
x→0

5senx − 1

tgx

lim
x→0

3tgx − 1

arctg(6x)

lim
x→−∞

(1 + ex)3 − 1

3ex

lim
x→0

e2x − 1

(1 + 3x)8 − 1


